= 1H

1

A0 UES &

T RETE 4 . SR TR AT BEMR R

=]

%, fi i [ E & PE AT A AR R 9 D R R

g TR xkEs E B W v o B B | W |k | e | 08 [

| FE [ikcaklaES: 40% 1.1% ttzfg ttz’g t|:£ ttigii ’
A% I
1 BRI N o B K 3. 2l 5.3
2 _EILISN o HE, 30 | L1|P 41ff 7.4F o7h 24
paveyil Ege 40 | 11| ¥ fE¥E YR pRiE
7 B [iskeR (s 40 | 11| Pb#E phdE b ph7E
AT LA DI
1 BEETREL g PN o B A
(1) WWE, JemE. Skm, K&, &, 3. Ot 5. 3
B
(2) EFUS oML W74 13

2 RS DHUR

(1) WE, dbHEE, #H, K&, F3H, | 30 L1|d 5.2 7.6 25t 22

HiiE
(2) EFEESIs MR 30 | L1|F 12f 19t 25 22
NG Dt aL | AE:3 40 | 1.1 b EeYE ERMH ERE
A LR R
1 BREEIRE M 0D B T i 4. 3l 5. 6
2 LEESt oo ik 30 | 1.1|F 6.2F 9.6 28 22
=1 AL X 40 1.1 FE¥E L% bevE b
A LA K ik
1 BRI P 00 B A K L 3. 4 5. 6
2 RERLS O 30 | L1|F5.7F 9.7 25F 22
x| Al b gk 40 | 11| Fh¥#Y HMEORRYE LR
AT (LA Xk
1 ERRER B PN o 2 R il s 2. 8l 4. 6
2 LERLS o 30 | L1 3.gd 6.7 28 22
L T ke |A=SE 40 | 1.1 tb#E kg phoE Lo

LA I




= 28

T RETE 4 . SR TR AT BEMR R

1

A0 UES &

- F ] fisttike [ 7 i pE BT T AHL S B fif 5%
g " (TR Xk wmoOH M W & = BT T ST i e e

3

] e & 1] &

%

L| T 1 BREiR PN o B A K e
(1) BEE AR - JIREEEED, BiE 4, Ol 8.4
Bk - RS EERR & 0 o
b::13
(2) kBT OHIR W3, TG 6.5

2 kiU o HE

(1) BE g - JIRERESHED, Rl 30 L1|F 6.2 11 254 22
B - ISR L Y B Oy

i
(2) EELiSt ot 30 | L1|h 5.7 9.6 25 22
HEFn Eoaiy 40 1.1| tb#E H¥E tevE BRYE
i TR L X
1 FREEIRG R o B T fill 3. ot 7.3
2 LECBUt o HbR 30 | L1|F 5.8 13 24 22
| W A LA Ik

1 IR MR PN o B2 b X e

(1) Z=EMFERA - TREBRD., 2 W5 Ol 6.7
HoFE R - TR BB 0 Al
b1

(2) EfEuishofig W2, ol 4.6

2 LRELS O

(1) =EHIHERF « FomEn., =5 30 L1 7.4 12/ 25 22
5 RA - TR E Y R H

i
(2) EFELUS ORI 30 | 1.1|% 5.0f 6.9 28 22
e A b IR 40 | 11| k¥ k¥ v fhv
A AR Kk
1 IR N o B A K HL 4. 3%l 6. 8
2 ELS o 30 | L1 55F 8.8F 25h 22
L5 T T (LR X
1 SR P 0D B A X 3. 30 7.3

2 _EFRLIAh oo M 30 L1|F 5.4F 13 25 22




S0 1ES s ® K 3E
I KHE 4 . BREERTAAHAT BEMBEE
e R ks @ A o w4 [P PEEERTIBEITOGES
| A (kA== 40% 1.1% ttzfg tti”g J:I:é ttigii ’
A% I
1 REEREAI N O B X W3, TR 6.7
2 RS o, 30 | 1.1 tl:5.4[:: 12/ o5 22
EoA i 40 1.1| %8 [h#s kv R




